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Which of these was a primary impact of the event shown in
the image?

. disruption of economic activity
increased risk of future disasters
changes in urban planning

loss of biodiversity

© A Forknall
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. Question 3 of 40

Correctly complete the sentence.

expansive I stationary

6560 —_— The population pyramid for Brisbane is described as

constrictive

50-54

A5-49

Age (years)

40-44
35-39
30-34

75.29

10.00%

0.00% 5.00% 10.00% 15.00%
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Population pyramids for Brishane and West End, 2027 Data source: ABS
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N Question 4 of 40

Which of these statements about Brisbane can be inferred

; from the population pyramid?
____ Health care is poor.
65-69 —
= 60-64 —— - . -
5 ssse D —— Fertility is high.
< sos4
;‘ 15-49

Life expectancy Is low

. Birth rates are declining.

15.00% 10.00% 5.00 0.00 5.00% 10.00% 15.00%
Percentage of Population

Males (Brisbane) Females (Brisbane) M Males (West End) B Females (West End) >

Population pyramids for Brishane and West End, 2021 Data source: ABS
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Which of these factors could account for the spike in the
age structure of West End?

avallability of schools and playgrounds

— proximity to aged care and health services

Age (years)
o

. proximity to tertiary education and employment

low-density housing

0-14 D

15.00% 10.00% 5.00% 0.00% 5.00% 10.00% 15.00%

Percentage of Population l

Males (Brisbane) Females (Brisbane) | Males (West End M Females (West End)

Population pyramids for Brishane and West End, 2021 Data source: ABS

The map relates to which of these hazards?

tsunami flooding volcanic activity . tropical cyclone
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Which region shown on the map is the origin location with the highest average annual count?

Question 7 of 40 £
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Question 8 of 40 &

5

© Commonwealth of Australia; CC-BY 4.0
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Using the map, what are the approximate coordinates of the northern tip of New Zealand? Using whole degrees, type your answer in the boxes
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Using the graphs, correctly complete the sentence
- Lagos Dhaka Beijing
Beijing I Ho Chi Minh City I Kinshasa
s =
& — S . Of the cities in the graphs, experienced the
= .
& ° least urban sprawl from 2000 to 2014
=
:_é, - Kinshasa Ho Chi Minh City Seoul
e 11
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o il
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0 2 4 6 B W 0 2 4 6 B W 0 2 4 & B 1
Outward Growth (2000-2014)

eme — High upward growth ’
+ High outward growth * Incremental outward growth

Note: The arrows represent different areas within a city. The length of each amow captures change in built-up area overtime.

Upward and outward growth in built-up area for selected cities
© World Resources Institute; CC-BY 4.0

Based on the graphs, which description of Beijing’s and

- Lagos Dhaka Beijing Seoul’s population density from 2000 to 2014 is accurate?

@  increasing
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& — > e
g o g static
S
Y =
=
3 Kinshasa Ho Chi Minh City Seoul decreasing
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Outward Growth (2000-2014)

g — High upward growth
» High outward growth * Incremental outward growtt

Note: The arrows represent different areas within a city. The length of each arrow captures change in built-up area overtime.

Upward and outward growth in built-up area for selected cities
© World Resources Institute; CC-BY 4.0
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What are some of the negative social/feconomic impacts of urban sprawl in Australian cities? Select all that apply.

increased infrastructure costs

decreased dwelling size

traffic congestion

quieter neighbourhoods

What are some of the negative environmental impacts of urban sprawl in Australian cities? Select all that apply.

reduced energy consumption
2¥ 4 soil degradation

IV 4 habitat fragmentation

IV 4 increased pollution
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Which of these is a realistic strategy for governments to limit urban sprawl?

confine public transport to inner-city areas
proscribe land releases on the edge of cities
limit population growth in large cities

. promote infill development in planning regulations

‘
~
L. Identify the primary category of the damages from NSW’s
22 floods: Key statistics 2022 floods by dragging the correct term into the table.
E@? Social I Economic I Environmental I

LGAs disaster declared: Damages Category

Question 14 of 40 £

Rainfall

61 (Feb-May) 7.731 people in emergency
37 (July) housing
dddddddddd iiiiiiiii 212,000 tonnes of waste
ddddddiddid 9 Lives lost
9 lives lost Social
= :
9 7,731 )’ﬁ‘\ >$500 million agricultural
w People in emergency —_— ’ losses
!n\ I accommodation
> $500 million o 14,637
Over Total agricuttural losses W Homes damaged =2 000km roads damaged
2,000 km .
Roads damaged $2.7 billion 212,000 5,303
Total infrastructure damage Tonnes of waste Homes uninhabitable
(Feb—Mar)
NSW floods, 2022 © State of New South Wales
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What is a primary factor contributing to the formation of tropical cyclones in the western Pacific?

monsoons
@  warm ocean waters
lunar cycles

El Niso phenomenon

Flag [/

Classify these impacts of drought in Australia by dragging the appropriate term into the table.

l primary impact I secondary impact I tertiary impact

Impact Classification
increased erosion
poor crop yields primary impact
reduction in grasses and shrubs primary impact
reduced farming profits
less food to markets secondary impact

“ Flag |7 m
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The Indigenous ranger in the photo is lighting fires to achieve which outcomes? Select all that apply.

to clear land for agriculture
to release carbon dioxide

to help control intense fires

to maintain diverse ecosystems

Prescribed burning © 10 Deserts Project; Indigenous Desert Aliiance

Drag the colour name to correctly complete the sentence

m ki uchivich

The lowest temperature in the heat map, is indicated by

= w7 [
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Which geographic challenge is evident in the heat map?

@  urban heatisland
a hot spot in the underlying mantle
global warming

temperature inversion

Based on the images, which is the most significant factor in
the differences between building temperatures?

Question 20 of 40

orientation of the building
@  the colour of the roof
shading on the south side

distance from the main road

s w7 [
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Drag the label onto each diagram to correctly identify it.
C

Tectonic plate boundaries

Question 22 of 40

I
¢

Tectonic plate boundary © Domdomegg; CC-BY 4.0

© Domdemegg; CC-BY 4.0

Flag [7

Which process of tectonic plate movement is shown in the

diagram?

spreading
slip-strike
coalescence

subduction
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Question 23 of 40

Which of these mountain ranges is still actively growing
through the processes shown in the diagram?

@  Andes, South America
Ural Mountains, Russia
Great Dividing Range, Australia

Transantarctic Mountains, Antarctica

Tectonic plate boundary © Domdomegg; CC-BY 4.0

“ Flag |7 m

Delhi Using the graph, when did Tokyo add the largest number of

40 million 4 inhabitants?
o =~ Tokyo
.- Shanghai 1950-1955
30 million .~ Dhaka -
g S0 millior Cairo
=
k @ 19601985
=N = Sao Paulo -
&
20 million
1975-1980
10 million 2010-2015
o
1950 1360 1970 1380 19590 2000 2010 2020 2030 2035
- Actual Projected
Population of the world's largest cities © Our Warld in Data from UN Population Division; CC-8Y }

“ Flag |7 “
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T Question 25 of 40

) million

- Toky
.- Shanghal

30 million Dhaka
= U malhon Cairo
5 ;
=] Mumbai
= ao Pauls
4
20 million
10 million
—
o—
1950 1960 1970 1980 1990 2000 2010 2020 2030 2035
—e—— Actual Projected
Population of the worid's largest cities © Our Warld in Data from UN Population Division; CC-BY
7 Question 26 of 40

40 million
Toky
Shangha
10 . Dhaka
c 30 millior o
S Cairo
2 “Mumbai
] exico City
= Sao Paulo
[
20 million
10

1950

1960

1970 1980 1990 2000 2010 2020 2030 2035

Projected
© Our Warld in Data from UN Population Division; CC-BY

Actual
Population of the world's largest cities

4

The cities which have the highest projected growth rates in
the graph:

are in less economically developed countries
have aging populations
have low fertility rates

have small populations

Flag |7

Using the graph, when did Dhaka become a megacity?
Type the year in the box

2000

Flag |7
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Question 27 of 40

0 million

Toky
Shangha

- Dhaka

0 million
Cairo
umbai

20 million

10 millior

— o
o

Sao Paulo

What is the most likely reason for the projected decline in
Tokyo’s population?

an ageing population

a government policy to relocate people to rural
areas

a consequence of a falling birth rate

emigration to other countries

Flag |7

For this guestion you may use the on-screen calculator. Click on the icon in
the top right corner

Development Authority

1950 1960 1970 1980 1990 2000 2010 2020 2030 2035
——  Actual Projected
Population of the world's largest cities © Our Warld in Date from UN Population Division; CC-BY
o Question 28 of 40 :
Census Popula

1901 405,819

1911 413,851

1921 488,452

1931 636,246

1541 917,939

1951 1,744,072

1961 2,658,612 46

1971 4,065,693

1981 6,220,406

1991 9,420,644

2001 13,782,976

2011 16,753,235

2021* 23,000,000

* Estimate, 2021 Census delayed
Delhi population
Source: Census of India; 2021 Delhi }

Calculate the rate of growth of Delhi’s population between 1991 and
2001. Round your answer to the nearest whole number and enter in the box.

Flag [7
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Which of these are common impacts of rapid population growth? Select all that apply

strain on health services

better access to fresh food

ageing population

increased economic activity

China evaluates the urban development of its cities using the ‘China Integrated City Index’. One of the sub-dimensions of the Index is Spatial Structure.

Which of these indicator groups are used to evaluate the cities’ spatial structure? Select all that apply.

Economic Efficiency
Social Management

¥ 4 Compact City

¥ 4 Transportation Network
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Which natural hazard damaged the city in the photo?

tsunami
cyclone
flooding

@ carthquake

Concepcién, Chile © C Ndhez; CC-BY-SA 2.0

What are some of the ways to mitigate the effects of the
natural hazard in the photo? Select all that apply

practice evacuation drills

Question 32 of 40 &

early warning systems

mandate resilient structures
safety education programmes

Concepcion, Chile © C Nunez; CC-BY-SA 2.0
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Drag the term to correctly complete the sentence.
34 — _ —
minutes northings degrees
33 The numbers on the top and bottom of the map represent
32 S: &
31
SCALE 1:50 000
CONTOUR INTERVAL 20 METRES
ELEVATIONS I METRES
Extract of Yolwal 1:50 000 map © Commonwealth of Australia; CC-BY 4.0

At which point on the map was the drone camera when the
photo was taken?

@®  FointA
Point B
Point C

Point D
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What is the grid reference for the southeastern end of
Danjera Dam?

333° 609°

336,611

CONTOUR INTERVAL 20 METRES

SCALE 1:50 000 ’

ELEVATIONS I METRES
Extract of Yalwal 1:50 000 map © Commonwealth of Australia; CC-BY 4.0

Flag |7

Label the landforms by dragging the correct term onto the map

DR ,

LAY o= P D=4 ¢ A 7
Extract of Yalwal 1:50 000 map © Commonwealth of Australia; CC-BY 4.0
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Question 37 of 40
o - A What percentage of rural dwellers had access to safely
. g ::A managed drinking water in Lesotho (see top left of graph)?
urope
[ e olombia  North America Enter a whole number in the box.
805 ) 1 o o B Oceania
@ _Myanmar W South America
-2
§ S Phl\u::u'(“,,.l""‘ oo
5 @ %
-4 Bangladesh I 4
-t Population
€ . (historical
g *_Ppakistan estimates)
Ethiopi:
"‘: .-'nrp_h.wmw
Nigeria .
X ) Acceptable answers:
20 e :
. . ™ 7
e 20 40 &0 80 1009
Share rural population 8
Share of urban vs rural pepulation using safely managed drinking water, 2020
© Our World in Data, from WHO/UNICEF data; CC-8Y ’
Flag |7
- u
. Question 38 of 40
1t = Adrica Which country represents an anomaly to the trend evident
Mord®ea” Brazil' W Asia in the graph?
Uzbekistan ‘e » Europe
L] “olombia . o . : g{“"’: Americe
! e i Q'M~-nr-nr & ® South America Uzbekistan
Philiopines, dr2d FO0M
.\ll ppir (,,. .
Bangladesh Bangladesh
: Pu‘uuhn'c:n . g
(historical
Pakistan Satlrabed)
'M:‘I\.‘.nw Chad
Spain
: o 20 Al S0% B0 100"
Share rural population
Share of urban vs rural population using safely managed drinking water, 2020
© Our World in Data, from WHO/UNICEF data; CC-BY }
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Chirag Nagar

Kranti Nagar
Kirolvidya
Vihar

West

Khalai
Village

Premier
Automobiles
Vidya Vihar

$
Coly

es
2
Ai Staff
Colony 2

© World Air Quality Index, data source Indi

Machado
Estate

Moderate

Air quality index, Mumbai, 10 January 2024

Yo Que

Select the image which best shows a consequence of densely popul

Tanjung Priok, Indonesia © Hulie; CC-BY-SA 2.5 Phoenix, USA

J 8
i &
w0 Kapadid Nagar 7
Pl olony /
”\ i
oz F Pest;
L Vifigba .4 & ;:6‘;:“
3 5 Bhave Nagar Calony

Which of these factors would contribute to the pollution level

shown on the map? Select all that apply.

population density

wastewater
industry
transport
n
lia CPCB }
Flag [7
L]

stion 40 of 40 :=:::

ated urban environments, by dragging the term onto the image

Goag, India

© T Tuson; CC-BY 4.0  Vosges, France

© I Keating; CC-8Y 2.0
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